
Year 5 Homework  

 

Maths  
Go on TT Rockstars. 
 
What is the value of the digit 6 in the following numbers?  
 
1) 26,494 
 
2) 169,521 
 

3) 6,103,472 
 
4) 183,638 
 

English 
 

Semi-colons are used to join coordinated sentences, the replace the coordinating 
conjunction. Rewrite the sentences, replacing the coordinating conjunction with a 
semi-colon. The first one has been done for you.  
 
We have been training hard so we should win the match.  
We have been training hard; we should win the match.  
 
1) I am starving so I can’t wait until dinner.  
 
2) Sam was desperately tired and he wanted to go home to bed. 
 
3) It was pouring outside so I needed to bring my umbrella to school today.  
 
4) It was getting very late so Timothy decided to go to bed.  
 
5) The snow started to fall and the sky turned as white as a sheet.  
  

RE 
 
Next week, the word of the week is ‘learning’. What does the word learning mean 
to you? How does it link to our school mission statement? 

 


